7|88 AlE4E WA
Al w52 2% 9 Hd
AU S =7 = AFEU S FA7 7173 S| Ak b g A
3,637,036 60,974,570 64,511,606
3,412,012 57,268,311 60,680,323
2FTUS 3,303,599 53,628,744 56,932,343
600 52,441 53,041
600 24,356 24,956
22A45LY 600 1,100 1,700
L ASFFALSARASF 600 1,100 1,700
b A AR A 600 1,100 1,700
1) J3n) 210—-15 |1,600,000¢9 — <71%>1,000,0009= 600 1,000 1,600
26,320 2,031,925 2,058,245
25,800 137,840 163,640
9 25,800 137,840 163,640
1. 7128 33 ¢ 25,800 131,480 157,280
F &2 AE £ 25,800 119,600 145,400
1) ()72 EARATY T AS 3,600 3,830 7,430
7H L 8x 210-01 4,600,0009 — <7]17%>1,000,0008 = 3,600 1,000 4,600
2) (25) 7] %883 g wAlodn 7,600 3,200 10,800
7H T 220-01 5,200,0009 — <717%>1,600,0009 = 3,600 1,600 5,200
) =4 220-01 5,600,0009 — <717%>1,600,000¢ = 4,000 1,600 5,600
3) (F)72TaYHATdF YA 1,800 1,334 3,134
7 8= 210-01 2,800,0009 — <7]17%>1,000,0009 = 1,800 1,000 2,800
4) (%) 71xsrg g g wAlodn] 3,800 1,400 5,200
7H 220-01 2,600,000 — <7]1%4>800,0004 = 1,800 800 2,600
) T 220-01 2,600,0009 — <717%>600,000¢ = 2,000 600 2,600
5) %91 3,000 5,000 8,000
7H EA}7] o 210-01 [250,0009 x10¥= 2,500 2,500
) A47) 210-01 50,0009 x10¥= 500 500
6) SFE X Y AE 5 A Q=A< 6,000 6,000
7H T 4] 210-01 |20,000€ X 300F= 6,000 6,000
520 349,642 350,162
ELFgse 520 346,442 346,962
EL S QAEHSS 520 343,736 344,256




A 2542 (9] - <)
AU S =7 = AFEU S FA7 7179 of| Ak <8 g A

7h E A A AE 520 343,736 344,256

1) ZFAFl 1] 520 45,928 46,448

7H HAFIIR A 110—04 |1,600,0009 — <7174>1,400,0009 = 200 1,400 1,600

(B DARAT: = 110-04 |1,000,000¢ — <714>900,000¢ = 100 900 1,000

t}) ghEE B x)H) 240-02 |650,0009 — <71 8>550,0009 = 100 550 650

2h) gAY+ 320-12 |3,080,0009 — <7]%>3,060,000¢ = 20 3,060 3,080

uh) 4t ¥ 3 7| B 320-12 |4,261,0009) — <7]1%>4,161,0009= 100 4,161 4,261

97,000 2,655,116 2,752,116

ARSAANA 97,000 700,000 797,000

IRLFA 3} 97,000 700,000 797,000

1. sojEx 84X 18,000 400,000 418,000

7}, wAo] L& -] &It} 18,000 30,000 48,000

1) $94x 210-01 |3,500,0009 — <7]%>2,000,0009= 1,500 2,000 3,500

2) k= 210-07 |12,500,0009 — <714>5,000,000¢ = 7,500 5,000 12,500

3) 7+a1H) 210-12 |3,000,0009 — <7]1%>1,500,0009= 1,500 1,500 3,000

4) I 620-03 |22,500,0009 — <714>15,000,000= 7,500 15,000 22,500

2. vt IS AZA 3} 79,000 300,000 379,000

7} st & Al 55,000 100,000 155,000

1) $94ex 210-01 |30,000,0008 — <71%>10,000,000¢ = 20,000 10,000 30,000

2) A Yy 30,000 70,000 100,000

7hH 7)1E 210-06 |64,000,0009 — <714>44,800,0008= 19,200 44,800 64,000

W) =3 210-06 |36,000,0009 — <714>25,200,0008= 10,800 25,200 36,000

3) Au|Ad = 210-07 |10,000,0009 — <714>5,000,000¢ = 5,000 5,000 10,000

L}, oglupLo|okr] A 24,000 20,000 44,000

1) 29 620-03 |36,000,0009 — <714>12,000,0008= 24,000 12,000 36,000

647,083 7,225,895 7,872,978

647,083 7,222,704 7,869,787

£9 AT7,862 5,644,286 5,566,424

1. BAFAN A A70,104 5,100,420 5,030,316

7} x4 A58,118 456,896 398,778

1) 29 620-03 |149,826,0009 — <71 8>181,586,000¢ = 31,760 181,586 149,826

C2) A 620-10 |248,952,0009 — <714>275,310,0009 = 726,358 275,310 248,952

W — ot - gAY - gy




A 54 2% (& - "4
Arued 2_A= A FA5E | 1A % 7

U 258y 620—03 |2,033,857,00091 — <71%4>1,995,023,000 ¢ = 38,834 1,995,023 2,033,857
t}. Z&w A33,102 1,350,138 1,317,036
1) 9 620—03 |666,243,0009 — <71%>687,551,00091 = 721,308 687,551 666,243
2) A4 620—10 |650,793,0009 — <71%>662,587,0009 = A11,794 662,587 650,793
gt 158y A17,718 1,298,363 1,280,645
1) 9 620—03 |333,992,0009 — <71%>341,493,00091 = AT,501 341,493 333,992
2) AHY 620—10 |946,653,0009 — <71%>956,870,00091 = A10,217 956,870 946,653
A AEAERY AT7,758 515,294 507,536
7F A4 5,099 40,902 35,803
1) 9 620—03 |13,282,000¢ — <7]%>16,034,0009= A2,752 16,034 13,282
2) AHY 620—-10 |22,521,0009 — <7]17%>24,868,000¢ = N~2,347 24,868 22,521
U 2538k 620—03 |196,594,0009 — <71%>193,864,00091 = 2,730 193,864 196,594
o}, =8k 3,851 131,612 127,761
1) 9 620—03 |65,232,000€ — <71%>67,327,0009= 2,095 67,327 65,232
2) AFY 620—-10 |62,529,0009 — <717%>64,285,0009 = A1,756 64,285 62,529
g 1S58k A1,538 148,916 147,378
1) 29 620-03 |53,924,0009 — <71%>54,534,0009 = A610 54,534 53,924
2) A+ 620—10 |93,454,000€ — <7]%>94,382,0009= ~928 94,382 93,454
2GR MNA 724,945 1,578,418 2,303,363
1. 8 FA 7 FUA L Eg= 724,945 1,578,418 2,303,363
7F = EFA 7T A 264,279 230,054 494,333
1) 429 620—03 |2,030,000¢1= 2,030 2,030
2) 258k 620—04 |307,799,0009 — <71%>143,650,00091 = 164,149 143,650 307,799
3) Z38tw 68,013 63,824 131,837
7hH +¥ 620—04 |59,489,000€ — <7]%>13,181,0009= 46,308 13,181 59,489
) A 620—11 |72,348,0009 — <7]1%>50,643,0009= 21,705 50,643 72,348
4) 1383 (AF) 620—11 |52,667,000€ — <7]%>22,580,0009= 30,087 22,580 52,667
U, F2AA 8 3} 460,666 1,064,590 1,525,256
1) A g3ty dnpA 363,681 363,681
7H AAA L5 57,618 57,618
(1) A)Adn] 420-03 |1,067,0009 X 54m'= 57,618 57,618
W) A = 140,844 140,844
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Al w52 2% )
AU S = AFEU S FA7 7179 of| Ak <8 Al

(1) 2121 420-03 |1,067,0009 X 132m'= 140,844 140,844

) AAsx 9,622 9,622

(1) A Am] 420-02 | 245,410,0009 X 3.9207%= 9,622 9,622

) AAlTSd= 6,604 6,604

(1) AAm] 420-02 |140,844,0009 X 4.6888%= 6,604 6,604

uh) 84 % 6,454 6,454

(1) A AMm] 420-02 | 137,643,0009 X 4.6888%= 6,454 6,454

vh) A TdF 7,536 7,536

(1) A AMm] 420—-02 |172,854,000¢ X 4.3592%= 7,536 7,636

AD) A I 135,003 135,003

(1) A An) 620—04 |1,067,0009 x118m'= 125,906 125,906

(2) AAM 620—04 |125,906,0009 x 4.8425%= 6,097 6,097

(3) 7]F0]%4n] 620-04 3,000,0009 x 12 = 3,000 3,000

2) A AATLTAE 96,985 96,985

7h AA "= 45,000 45,000

(1) A1AH] 420-03 [45,000,0009 x 14 = 45,000 45,000

W) AAE= 14,685 14,685

(1) AAn] 620—04 |14,685,000¢ x 14 = 14,685 14,685

oh) AAx 12,000 12,000

(1) A1AH 620-04 [12,000,0009 x 12 = 12,000 12,000

) H5x 300 300

(1) A)Adn] 620-04 300,000 x 124 = 300 300

b FANS 15,000 15,000

(1) A1) 620-11 |15,000,0009 x 12 = 15,000 15,000

vh) A8 s 10,000 10,000

(1) AAdn] 620—11 |10,000,0009 x 14 = 10,000 10,000

st AP A A aE 562,452 21,006,391 21,568,843

342,672 10,385,845 10,728,517

4 342,672 10,385,845 10,728,517

1A RS R 91,347 10,044,445 10,135,792

7F +24 620—02 |1,293,704,000€9 — <7]1%>1,335,361,000¢4 = A41,657 1,335,361 1,293,704

U, 258w 620—02 |7,175,474,0009 - <7]1%>7,086,135,000¢= 89,339 7,086,135 7,175,474




N8 AEZHEU A
71387 L A et R S A wS A A (k9] - A 9)
2 [e) 1=}
woipy B3| T3 | 0T Aol %A% e N 357 | AR | @
%6_}_7]7_ 620—02 |1,666,614,0009 — <71%4>1,622,949,000¢4 = 43,665 1,622,949 1,666,614
2. st 7| ele-9n x4 251,325 341,400 592,725
7}, nFshGol AL 251,325 141,400 392,725
1) 2538w 620—04 |170,185,0009= 170,185 170,185
2) &8t 620—04 |93,140,0009 — <71%>12,000,000¢ = 81,140 12,000 93,140
AYEHA A =) 219,780 10,620,546 10,840,326
LA AR ATA Y 219,780 1,765,974 1,985,754
1. YA AT R 2 37,134 1,670,098 1,707,232
7]__ ‘Qﬂﬂ %%Ooﬂ 1:]] 620—09 |1,707,232,000¢ - <71%>1,670,098,000¢ = 37,134 1,670,098 1,707,232
2. Al st a7 el u| R Y 182,646 95,876 278,522
7}, mEsrs o AN 182,646 95,876 278,522
1) 8w 620—-11 |251,972,0009 — <714>95,876,0009 = 156,096 95,876 251,972
2) 15w 620—10 |26,550,0009= 26,550 26,550
st Ao ANA 1,970,144 20,656,976 22,627,120
St A A 1,970,144 20,656,976 22,627,120
S A A EE 136,512 628,493 765,005
1. =3 AAHAEEA 136,512 17,064 153,576
7} A ZAAEAHA 136,512 136,512
1) A An)] 136,512 136,512
7hH A AEHA 420-03 |158,000¢) X 864 m'= 136,512 136,512
Bt A A3 AN 1,833,632 20,028,483 21,862,115
1. ZAMR A 2,313,960 4,289,450 6,603,410
7}, vk R S 849,000 849,000
1) A]Adn] 849,000 849,000
7hH =A% 420-03 |15,460,0009 X 54.91594 = 849,000 849,000
L, v 143,000 143,000
1) Aldw] 143,000 143,000
7H A= (24 420-03 |11,230,0009 X 12.73374 = 143,000 143,000
o}, vl R 2= 417,420 447,925 865,345
1) A]An] 417,420 429,750 847,170
7hH =A% 420-03 |15,460,0009 x 274 = 417,420 417,420
g}, v 78,610 1,127,504 1,206,114
LE - fohd2FEuS — AR AN - StaAAAN - StrA AR




B8 AEZ =Y A
7187 - AE R A w2 DA (9] ")
74 o) 1=

gopzg 22| B3| 2% ESIE Bz Azl 2427 | AgAue | @
1) A1AH] 78,610 1,100,540 1,179,150
7H T & (9]H) 420-03 |5,615,000¢ x 241 = 11,230 11,230
W) 1 E (S 420-03 [11,230,0009 x 24 = 22,460 22,460
o) &2 % (4 420-03 |11,230,0009 x 24 = 22,460 22,460
2 X% (9H) 420-03 |5,615,0009 x 42 = 22,460 22,460
v}, QBT wA (o] F3) 696,870 1,384,586 2,081,456
1) Al4dn] 696,870 1,367,930 2,064,800
7h =A% 420-03 |25,810,0009 x 272 = 696,870 696,870
Hf, 5 E ) w A 129,060 261,948 391,008
1) A1AH] 129,060 256,530 385,590
7H AR (EYE 420-03 |2,010,000¢] x 274 = 54,270 54,270
W) 242 (BEE=03) 420-03 |2,770,0009 x 2724 = 74,790 74,790
2. YA AN 16,040 499,991 516,031
7h B 16,040 151,901 167,941
1) A1AH] 16,040 144,360 160,400
7 = 420-03 |8,020,0009 x 22 = 16,040 16,040
3. SARAAENA 100,010 20,550 120,560
7h AN 100,010 20,550 120,560
1) A4 100,010 20,550 120,560
71 =A% 420-03 [1,370,000¢ x 304 = 41,100 41,100
W) sts& 420-03 |1,370,0009 x 432 = 58,910 58,910
4, AAEFPENA 913,104 162,394 1,075,498
S EIRRA 100,000 100,000
1) WX RBAFZAL 100,000 100,000
7H AAAL 529 (1,029m) 420-03 150,000,0009 x 14] = 50,000 50,000
W) AAsAAE o] 2B 11 (472m') | 420-03 50,000,00091 % 14] = 50,000 50,000
v A (A ) oA 43,885 43,885
1) Al4dn] 43,885 43,885
7hH WH = 420-03 |7,979,0009) x5.5% = 43,885 43,885
ok b (Aeh, S28) T3t 10,584 45,570 56,154
1) A1AH] 10,584 45,570 56,154
7hH WA % 420-03 |147,0009 X 72m= 10,584 10,584

I — Fold2F oS — StuAAAANA — SwA A — A AN




7|8 AEZ5 UG A
7187 - AE R A w2 DA (9] ")
Z o) 1=

gopzg 22| B3| 2% RESHE Sy Ao 24 AR | @)
2}, =2fo|H| E A 160,995 75,131 236,126
1) A4 160,995 75,131 236,126
YORIEES 420-03 |21,466,0009 x 1.5 = 32,199 32,199
W) 2xx 420-03 21,466,000 x 64 = 128,796 128,796
up, AX S 280,000 280,000
1) A1AH] 280,000 280,000
71 A F A Hulo] A8 1 420—-03 280,000,000 x12]= 280,000 280,000
vl s 49,000 49,000
1) Al4dn] 49,000 49,000
7h AR = 420-03 |7,000,0009 X 77 &= 49,000 49,000
A}, -8 268,640 268,640
1) A1AH] 268,640 268,640
7H AAF= 420-03 |730,0009) X 328m'= 239,440 239,440
W st 420-03 |730,0009 x40m'= 29,200 29,200
5. FE#HFMA 662,280 3,457,469 4,119,749
7}, w2 166,320 315,454 481,774
1) A1AH] 166,320 302,022 168,342
7h AE= 420-03 |378,0009 X 40m= 15,120 15,120
) A s alo) AE 1L 420-03 |378,0009 X 400m= 151,200 151,200
B 319,240 1,906,501 2,225,741
1) A1AH] 319,240 1,860,700 2,179,940
7H 2 % 420-03 22,0009 % 3,000m'= 66,000 66,000
W st=F (o AF) 420-03 |22,0009 X 1,500m'= 33,000 33,000
h == (RA=ZYTA) 420-03 338,000 X 80m'= 27,040 27,040
2h) AAFAAE o] ~E 11 420-03 |105,0009 X 1,840m'= 193,200 193,200
o} AAbA (B E) 26,720 267,200 293,920
1) A1AH] 26,720 267,200 293,920
7H €A% 420-03 668,000 x40m'= 26,720 26,720
2}, 7] e} 150,000 363,840 513,840
1) Al4dn] 150,000 363,840 513,840
O EYCITEED) 420-03 |150,000,0009 x 14 = 150,000 150,000
6. Ao AH A H &5 392,000 0 392,000

LE - fold2FERE — AL ANA — SN A - FRARBAAA




7|8 AEZ5 UG A
713y AeE A LS AL H (F9) - ")
74 o) 1=
woipy B3| T3 | 0T AERE %A% RENE 438 | A | g
7t 577 392,000 392,000
1) A]AdH] 392,000 392,000
7hH " & 420-03 |196,000,0009 x 14 = 196,000 196,000
W dEx 420-03 |196,000,0009 x 12] = 196,000 196,000
7. A7|AA A 149,524 268,356 417,880
7} 2 A4 (LED) 16,560 16,560
1) Al4dn] 16,560 16,560
hH E3+E 420-03 2,760,000 x 62 = 16,560 16,560
L A 146,800 146,800
1) A1AH] 146,800 146,800
7h 349 % (300KW) 420-03 |146,800,0009 x 121 = 146,800 146,800
ok A7) 2 A Al A ~73,836 73,836
1) A1AH] AT73,836 73,836
7H A A sl A8 11 420-03 |09 — <717%>42,436,000€9 = A42,436 42,436
W) A5 A uto] A8 1 (A7 25 A7) 620—04 |09 — <71%>31,400,0009= A31,400 31,400
2. 7] e} 60,000 76,000 136,000
1) A1AH] 60,000 76,000 136,000
7h A % (S 7t2S) 420—-03 [6,000,000¢9 x 10t = 60,000 60,000
8. AAM A (AHE) 112,300 209,090 321,390
7F W4 112,300 145,990 258,290
1) A]AdH] 112,300 145,990 258,290
7 "= (24D 620—-11 [11,230,0009 x 104 = 112,300 112,300
9. EIANA AD) 68,040 417,200 485,240
7}, w2 68,040 113,400 181,440
1) A]4dH] 68,040 113,400 181,440
7hH gek= 620—11 |378,000¢ X 180m= 68,040 68,040
10. A7 A A AN (AFD) 60,000 133,450 193,450
7}, =" Al (LED) 60,000 60,000
1) A1AH] 60,000 60,000
7hH 9= 620—11 |2,760,0009 x21.7394 = 60,000 60,000
11. J9AFIEAS A2,953,626 8,202,211 5,248,585
7} At xRS £992,690 1,370,331 377,641
I — Fold2F oS — StuAAAANA — SwA A — A AN




7188 MEZEU A
A 384 9 9 A
Al Abei ol B AE e e 717 of] Ao 3t
AF 7 = = il = T3 J oA At s}

1) AlAdH) 420-03 |377,641,0009 — <71%>1,370,331,000¢ = £992,690 1,370,331 377,641
U HExEAE S5 uANE A838,015 1,156,814 318,799

1) AAF R A 420-02 09 - <71%>17,174,0009 = A17,174 17,174
2) Al 420-03 |318,799,0009 — <71%>1,139,640,000¢1 = ~820,841 1,139,640 318,799
gAY ERFNE A837,385 1,155,945 318,560

1) AAFRekekz} 1A 420-02 09 - <71%>17,693,0004 = ~17,693 17,693
2) A]Adn) 420-03 |318,560,000¢) — <71%>1,138,252,000¢1 = ~819,692 1,138,252 318,560
2 AA xEA =g ey ~285,536 657,098 371,562

1) A]AdH) 420-03 049 - <714>285,536,000¢ = ~285,536 285,536
R 108,413 3,637,967 3,746,380
&P Ak 52,064 3,006,607 3,058,671
AT E-E) 1,170 5,740 6,910
A3 1,170 5,740 6,910
1. AAZAL 1,170 1,560 2,730
‘ 7} ZAAFEE ] 250-04 [2,250,000€ — <7]1%>1,080,000¢ = 1,170 1,080 2,250
A uj| x] A 3 50,894 2,536,486 2,587,380
Al ] A B B 50,894 2,536,486 2,587,380
1. B8 AX Y 47,894 2,466,873 2,514,767
7b AAW AR E A RAFE 310-01 47,894,000¢= 47,894 47,894
2. A YFE=2A 3,000 540 3,540
7h. At Bt w53 531 3,000 3,000
1) ¢9&=% 210-01 50,0009 X 4% < 63]= 1,200 1,200
2) I 210-06 60,0009 x 27 X 63]= 720 720
3) 93 230-02 15,0009 X127 X 63]= 1,080 1,080
79 56,349 631,360 687,709
k] 56,349 422,752 479,101
71871224 H] 56,349 422,752 479,101
1. BA 7| B2 A 12,520 157,082 169,602
ATl R 6,320 70,120 76,440
1) Zon) 6,320 48,400 54,720
7H =4 220-01 |26,720,000€ — <71%>22,400,0009= 4,320 22,400 26,720
W) £9 220-01 16,000,0009 — <7174>14,000,000¢4 = 2,000 14,000 16,000

R NI B ER




7188 A& 22 A
713y AeE A LS AL H (2] = 9
gopzg 22| B3| 2% Aol %A% e N 357 | AR | @
B R PRI 6,200 86,962 93,162
1) =Zuoin 6,200 50,530 56,730
7hH &4 220-01 |25,730,0009 — <7]%>21,080,00094 = 4,650 21,080 25,730
) %9 220-01 |16,740,0009 — <71%>15,190,0008 = 1,550 15,190 16,740
2. 71 F- 97 H] 43,829 232,010 275,839
7F FE T EHAA 18,829 63,660 82,489
1) A7) 210-02 |64,669,0009 — <7]%>45,840,00094= 18,829 45,840 64,669
. Ao 25,000 83,380 108,380
1) Y35 A 430-01 |8,000,000¢] X 3% = 24,000 24,000
2) A=A 210-01 |50,000€ X 20%= 1,000 1,000
of u]H] 37,437 0 37,437
of 1] 1] 37,437 0 37,437
of v v L 7] E} 37,437 0 37,437
o H]n] Y7 e} 37,437 0 37,437
AAETT 37,437 0 37,437
1. AR EFF 37,437 0 37,437
7}, A AR A B2 R o] AR S 432 432
1) WaEupe sty 9o 710-02 |26,0009= 26 26
2) EAXAxES yaE sty £ | 710-02 35,0009= 35 35
3) gl R FE WA 710-02 |200,0009 = 200 200
4) AEYE20}-S 8w 710-02 |31,0009= 31 31
5) X2 A =32 Y AE L 710-02 |23,0009= 23 23
6) WA NAALYI 710-02 |117,0009= 117 117
U A A B2 5] 3 7ol vl 3} 37,005 37,005
1) 71328121 d 710-02 112,123,0009= 12,123 12,123
2) EAR G xSyt w9 | 710-02 |17,643,0009= 17,643 17,643
3) Yol AR Z ALY 710-02 |7,239,00091= 7,239 7,239
71 EF 87,687 3,706,259 3,793,846
Q17AH] 87,587 3,706,259 3,793,846
Q17| 87,587 3,706,259 3,793,846
ZEARIAN 87,687 3,706,259 3,793,846
| AEFTFA AN 87,587 3,706,259 3,793,846
ZIef — 18] — Q18] — ZEARIAN] — wHFFAAAH]
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71349 AR R A S A 95 (k9] : x4
o) 1=
gopzg 22| B3| 2% Aol %A% e N 357 | AR | @

1. 25 TEA g An AT 87,587 3,706,259 3,793,846
7h. w SRR (Y A A of &2 850 8,700 9,550
1) 718+ 110-04 |7,252,0009 — <714>7,052,0009 = 200 7,052 7,252

2) ZrETS 110-04 900,000 — <71%>700,000¢ = 200 700 900
3) 3] 2 2] 240-02 |700,0009 — <71 >250,0009 = 450 250 700
U, 28k AQhA A E AL 14,337 306,283 320,620
1) 718+ 110-04 |163,030,0009 — <7]4>158,780,0009 = 4,250 158,780 163,030

2) 7V 110-04 |11,840,0009 — <71%>11,000,000¢ = 840 11,000 11,840

3) HAFIIRAF 110-04 |15,300,000¢9 — <71%4>11,900,000¢ = 3,400 11,900 15,300

4) A7)+ 110-04 |5,525,0009 — <714>3,825,0009 = 1,700 3,825 5,525
5) ZFEE E 2] H)| 240-02 |13,150,0009 — <714>10,550,0008= 2,600 10,550 13,150

6) HA A= 320-12 |26,691,0009 — <714>26,201,0008= 490 26,201 26,691
7) At R 7 B 320-12 |28,343,0009 — <714>27,286,0008= 1,057 27,286 28,343
o}, A A }Q_ﬁﬂ] 32,932 2,213,098 2,246,030
1) 71E¥3 110-04 |1,099,968,0009 — <71%>1,075,968,0008 = 24,000 1,075,968 1,099,968

2) NNES 110-04 68,520,000 — <71%>60,960,0009 = 7,560 60,960 68,520
3) AT AL 110-04 76,800,000 — <7]18>67,200,000¢ = 9,600 67,200 76,800

4) A 714 o] 110-04 |48,000,0009 — <7]1%>43,200,0009 = 4,800 43,200 48,000

5) A4 110-04 87,900,000 — <7]18>109,363,000¢ = A21,463 109,363 87,900

6) T3] 2 2] 240-02 |37,850,0009 — <714>32,400,0008= 5,450 32,400 37,850

7) §AAY = 320-12 |146,959,0009 — <718>159,691,000¢ = ~12,732 159,691 146,959
8) 4t K& 7| TR 320-12 |220,547,0009 — <71%>204,830,0009 = 15,717 204,830 220,547
;'/]. J,].tsl—)d /\]'?_]Zﬂﬂ] 1,150 48,528 49,678
1) 7|23 110-04 23,016,000 — <71%>22,416,0009 = 600 22,416 23,016

2) WHF/IR A 110-04 |1,600,0009 — <714>1,400,000¢ = 200 1,400 1,600

3) A7) Ao = 110-04 1,000,000 — <714>900,000¢ = 100 900 1,000
4) "ubE3 2 2] 240-02 |1,000,0009 — <7]%>750,0008= 250 750 1,000
vl m skl ol Au] (meA] ¢ 1,025 31,180 32,205
1) 7185 110-04 20,139,0009 — <71%>19,614,0009 = 525 19,614 20,139

2) MAZTIIR AT 110-04 |1,600,0009 — <714>1,400,000¢ = 200 1,400 1,600
3) A 7|4 o] & 110-04 |500,0009 — <71%>300,000¢ = 200 300 500

4) oFEE ¥ 2] 240-02 |650,0009 — <718>550,0009 = 100 550 650

718F — 14| — Q13A8] — ZEAQIAE] —
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=7 = 2 o:‘l
713 A5 9A
7137 MY EAALSH A (¢ - )
EED 9 A5 = = 5
ToHFE f};j' el el AU < k= A=EUg FASH 7174 of| Ak ol st A
v, v] gl An] (8ha) 37,293 624,375 661,668
1) 7183 110-04 |399,184,0009 — <7]4>388,944,000¢ = 10,240 388,944 399,184
2) BAZIIHR A 110-04 [33,300,0009 — <71%>25,900,0009 = 7,400 25,900 33,300
3) A7) Ao = 110-04 [12,950,0009 — <71%>5,550,000¢ = 7,400 5,550 12,950
4) AT 110-04 [19,052,0009 — <71%>18,870,0009 = 182 18,870 19,052
5) Y& &A1) 240-02 |30,000,0009 — <7]%>24,790,0009 = 5,210 24,790 30,000
6) A I 7| BRI+ 320—12 |61,362,0009 — <714>54,501,000¢= 6,861 54,501 61,362
71} = 1AH] — 38| — FEARJIAN] — ST FA AN
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